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Building Standards in Educational and Professional Testing

SAMPLE PAPER PROTOCOL ASSISTANT
ENGLISH
Questions 1- 4 are based on the following passage.

Although the schooling of fish is a familiar form of animal social behavior, how the school is formed and maintained is only beginning to be understood in detail. It had been thought that each fish maintains its position chiefly by means of vision. Our work has shown that, as each fish maintains its position, the lateral line, an organ sensitive to transitory changes in water displacement, is as important as vision. In each species a fish has a "preferred" distance and angle from its nearest neighbor. The ideal separation and bearing, however, are not maintained rigidly. The result is a probabilistic arrangement that appears like a random aggregation. The tendency of the fish to remain at the preferred distance and angle, however, serves to maintain the structure. Each fish, having established its position, uses its eyes and its lateral lines simultaneously to measure the speed of all the other fish in the school. It then adjusts its own speed to match a weighted average that emphasizes the contribution of nearby fish.

1. According to the passage, the structure of a fish school is dependent upon which of the following?

A. rigidly formed random aggregations

B. the tendency of each fish to remain at a preferred distance from neighboring fish

C. measurements of a weighted average by individual fish

D. both B & C

2. The word “its” in the passage refers to the:

A. school of fish

B. fish

C. organs

D. structure

3. The author of the passage believes that the structure of fish schools is maintained through:

A. vision only

B. lateral lines only

C. the eyes and lateral lines simultaneously

D. an organ not yet discovered

4. The passage suggests that, after establishing its position in the school formation, an individual fish will subsequently:

A. maintain its preferred position primarily by visual and auditory means

B. make continuous sensory readjustments to its position within the school

C. make unexpected shifts in position only if threatened by external danger

D. surrender its ability to make quick, instinctive judgments

Change the voice of the following. (Active & passive voice)

5. He was watching TV.

A. TV was being watched by him.

B. TV is being watched by him.

C. TV will be watched by him.

D. TV will being watched by him.

Complete the sentences by choosing the most appropriate option, from the given lettered choices (A to D) below each.

6. I would like to have the newspaper as soon as you ______ it.

A. finished

B. are finish

C. will finish

D. have finished

Each question below consists of a related pair of words, followed by five lettered pairs of words. Select the lettered pair that best expresses a relationship similar to that expressed in the original pair. 

7. ENZYME: CATALYST::

A. vaccine: allergy

B. bacterium: microbe

C. gland: muscle

D. vein: organ

E. neuron: corpuscle

Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

8. TRANSIENT:

A. temporary

B. shining

C. dull

D. permanent

ANALYTICAL REASONING

Questions 9-12

Each body spray made by a manufacturer is a mixture of two or more essences selected from a stock of exactly five different essences labeled F, G, H, J and K. The manufacturer has learned that a formula for a body spray is acceptable if and only if it does not violate any of the rules listed below.

If the body spray contains F, it must also contain H and there must be twice as much H as F.

If the body spray contains G, it must also contain J and the amount of J must equal the amount of G.

H cannot be used in combination with J.

J cannot be used in combination with K.

If the body spray contains K, the amount of K must be greater than the total amount of the other essence or essences used.

9. Which of the following is an acceptable formula for a body spray?

A. Four parts J, four parts G

B. Five parts K, five parts G

C. One part F, one part K

D. Two parts G, two parts F


E. Three parts H, three parts F

10. The addition of more H could make which of the following formulas for body sprays acceptable?

A. Two parts G, one part H, four parts K

B. Two parts H, one part J, three parts K

C. One part F, one part H, five parts K 

D. Two parts F, two parts H, two parts K

E. One part G, one part H, one part K

11. Which of the following could be added to an unacceptable body spray consisting of two parts H and one part K to make it acceptable?

A. Two parts H

B. One part J

C. Two parts K

D. One part F

E. One part G

12. Each of the following is a pair of essences that can be used together in an acceptable body spray consisting of two or more essences EXCEPT:

A. G and J 

B. K and H

C. F and G 

D. F and H 

E. F and K 

MS OFFICE
13. What is the Font size range of text in MS Word?

A. 6.5 - 60

B. 7 - 65

C. 8 - 72

D. 8.5 - 72

E. 9 - 80

14. Ascending order in MS Excel is shown as:

A. Z - A

B. A - Z

C. 1 - N

D. 0 - 9

15. We can insert hyperlink in MS Power Point by:

A. Shift + M

B. Ctrl + V

C. Alt + P

D. Ctrl + K
SUBJECT
16. Who is the Current Chief of Army Staff (COAS), in Pakistan?
A. Gen Raheel Sharif

B. Gen Ashfaq Parvaz kayani

C. Gen Qamar Javed Bajwa

D. Gen Zubair Hayat

17. Which is the rainiest place of Pakistan?

A. Sialkot

B. Murree

C. Rawalpindi

D. Quetta 

18. Which of the following is NOT a useful technique for linking ideas in a paragraph?

A. Dovetailing sentences 

B. Pivoting sentences 

C. Sustaining the key idea 

D. Using pronouns 

19. What does it mean to be secure?

A. Security means the coercive capability to stop an aggressor. 

B. Security refers to safety from vulnerabilities (both external and internal) that could harm the state, societies within the state, and the values of those societies.

C. Security means freedom to enjoy the things that are most important to human survival and well-being, such as food, healthcare, and the opportunity to live well.

D. Security is freedom from war, and the ability to deter or defeat aggressive attacks.

E. All of the Above 

ANSWER KEYS
	Q #.
	Right Choice

	1
	D

	2
	B

	3
	C

	4
	B

	5
	A

	6
	D

	7
	B

	8
	D

	9
	A

	10
	C

	11
	C

	12
	C

	13
	C

	14
	B

	15
	D

	16
	C

	17
	B

	18
	B

	19
	E


DESCRIPTIVE
60-MINUTES

30-Marks

Organize, develop and express your ideas on the following topic by deploying elements of standard written English. (20 Marks)
“Smoking is injurious to health”
Write a Letter on the following theme (10 Marks)
“A letter to your manager requesting / convincing him to allow you for organizing a farewell party for your colleague who is going to be retired next moth”
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